
Trailer Accessories

Q-1 Q-1Other items may be available via special order. Please contact us for additional information.

Part # Fits Ball Tongue Width Capacity Mount Mounting Hole
#61037 2” 3” 5,000 lb. Weld or Bolt 3/8” on 3.17”

#61038 2-5/16” 3” 10,000 lb. Weld 1/2” on 3”

Ball Couplers - (A-Frame)

Part # Fits Ball Tongue Width Capacity Mount Mounting Hole
#61031 1-7/8” 2” 2,000 lb. Weld or Bolt 3/16” on 2-1/2”

#61032 1-7/8” 2-1/2” 2,000 lb. Weld or Bolt 3/8” 2-1/2”

#61034 2” 2-1/2” 3,500 lb. Weld or Bolt 1/2” on 3-1/16” 
Center

#61035 2” 3” 3,500 lb. Weld or Bolt 1/2” on 3-1/16” 
Center

#87914 2” 2” 3,500 lb. Weld or Bolt 1/2” on 3-1/16” 
Center

Ball Couplers - (Standard)

Part # O.A.
 Length

Internal 
Width

Distance Between 
Position Holes

Position 
Hole Dia.

Mounting 
Holes

Mounting 
Hole Center

#45433 7.63” 2.94” 2.0” 5/8” 2(1/2”) 6”

#116689 7.53” 3” 2.0” 5/8” 2(5/8”) 5.07”

#116690 11.62” 3” 2.0” 5/8” 2(1/2”) 5”

3 Position Channel

Part # Pin Size Inside Height Mounting 
Holes

Trailer 
GVW Max. Vertical

#83661 1.0” 2.5” 5/8” 20K 2K

Adjustable Clevis

Part # Description Dimensions Capacity
#36909 Safety Chain with Hooks 1/4” x 54” long 5,200 lb.

Safety Chain

Part # Description Working Load Limit Grade
#13574 3/16” Proof Coil Chain (Galvanized) 800 lb. 30

#13576 5/16” Proof Coil Chain (Galvanized) 1,900 lb. 30

#13577 3/8” Proof Coil Chain (Galvanized) 2,650 lb. 30

Proof Coil Chain



Q-2 Q-2Other items may be available via special order. Please contact us for additional information.

Trailer Accessories

Part # Bearing I.D. Hub Width Lug Pattern Capacity
#66666 1-1/16” and 1-3/8” 4-3/16” 5 on 4-1/2” Circle 1,750 lb.

5 Bolt Hub Assembly for Tapered Spindle (Complete Kit - All Parts Included) 

Part # O.A. Length Dimension A B Diameter C Diameter Capacity
#25685 7-1/2” 4-6/16” 1-3/4” 1-1/16” to 1-3/8” 1,750 lb.

#25686 10” 4-5/16” 1-3/4” 1-1/16” to 1-3/8” 1,750 lb.

Tapered Spindle Assembly (to fit hub part # 66666)

Part # Hub Width Lug Pattern Capacity
#25669 4-7/16” 4 on 4” 1,250 lb.

4 Bolt Hub (Hub, Races, Bolt Only) Order parts kit below to complete the hub

Part # Hub Width Lug Pattern Capacity
#25670 4-1/8” 5 on 4-1/2” Circle 1,250 lb.

5 Bolt Hub (Hub, Races, Bolt Only) Order parts kit below to complete the hub

Part # To Fit Bearing I.D.
#83062 4 or 5 Stud Hub (5 Nuts Included) 1”

#83060 4 or 5 Stud Hub (5 Nuts Included) 1-1/16”

Parts Kit for 1,250 lb. Hubs  (Lug Nuts, Seals, Bearings and Cap)

Part # O.A. Length Dimension A B Diameter C Diameter Capacity
#25684 8-1/2” 4-1/8” 1-1/4” 1” 1,250 lb.

#83057 8-1/2” 4-1/8” 1-1/4” 1-1/16” 1,250 lb.

Spindle Assembly for 1,250 lb. Hubs



Q-3 Q-3Other items may be available via special order. Please contact us for additional information.

Part # Description Lift Height Lift Capacity Weight
#87894 Wheeled Flange Mount, Sidewind 10” 1,000 lb. 15 lb.

1,000 lb. Trailer Jacks

Trailer Accessories

Part # Description Lift Height Lift Capacity Weight
#107378 A-Frame, Topwind 15” 2,000 lb. 13 lb.

#87903 Flange Mount, Topwind 10” 2,000 lb. 15 lb.

#107384 Tube Mount, Topwind 10” 2,000 lb. 14 lb.

#106571 Tube Mount, Topwind 15” 2,000 lb. 17 lb.

2,000 lb. Trailer Jacks

Part # Description Lift Height Lift Capacity Weight
#107380 A-Frame, Topwind 15” 5,000 lb. 14 lb.

#107381 Tube Mount, Sidewind, 5/8” pin 10” 5,000 lb. 15 lb.

#107377 Tube Mount, Sidewind, 9/16” pin 10” 5,000 lb. 15 lb.

#106569 Flange Mount, Topwind 15” 5,000 lb. 21 lb.

#106570 Tube Mount, Topwind 15” 5,000 lb. 20 lb.

5,000 lb. Trailer Jacks

Part # Description Lift Height Lift Capacity Weight
#87909 Square Direct Weld, Sidewind 12.5” 10,000 lb. 57 lb.

10,000 lb. Trailer Jacks

Wheeled 
Flange Mount, 

Sidewind

Flange Mount, 
Topwind

Tube Mount, 
Sidewind

Tube Mount, 
Topwind

A-Frame, 
Topwind


